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Answer ETTHER Question 7 below OR Question Eprh:mdnnplpn.ﬂnl}'nmd‘ﬂlu:mqunﬂimﬂbd TC
Emmmmﬁm.hmmmmﬂn@uﬁmmhmmmmmﬂm

weighting for the question you choose is 15 percent.
7. Answer the following questions about the element selenium, Se (aomic number 34).

(a) Samples of natural selenium contaim six stable isotopes. In terms of stomic structure, explan what these
isotopes have in common, and how they differ.

(b) Write the complete electron configuration (e.g. 15225, . . ete.) for a selenmm atom in the ground state.
mmm&wwmmﬂmmmﬂmmm -

(c) Iut&mnflmnﬁnmu:mnphlnw}' the first ionization energy of selenium is
(1] less than that of bromine (atomic number 35), and
(i) g:u:ﬁ'drmﬂntﬂf:ﬂ]ﬂ‘iﬂﬂﬂ:ﬂﬂﬁ:nmhnﬂ}.

{d) Selenium reacts with fluorine tw form S-:F,,.]:nwﬂn:nmpmhﬁum—dumfm SeF, and
mm'mhcﬂumnm-hﬁmﬂhuﬂ:ﬂﬁmhmkhpdhwnwﬂtmdMymmw.
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A AN TO THE NEXT PAGE.



